Question Paper Name:

Subject Name: Paper Il EHG
Creation Date; 2019-01-08 16:07:24
Duration: 180

Total Marks: 390

Display Marks: Yes

National Testing Agency

Paper |1 EHG 8th Jan 2019 Shift 2a

Paper 11
Group Number : 1
Group Id: 416529137
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 390
Mathermatics
Section Id : 416529193
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 416529255
Question Shuffling Allowed : Yes

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The function f : R—R, is given by
f(x)=—",is:
1+x

Options:
| One-one and onto

o onto but not one-one



= one-one but not onto

4 neither one-one nor onto
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Options:
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(443 f : R>R, f(x)=—2

1+ [x

w]

Options:
1 Bs-ols i e 9,

, £ Yol 2ls-sis 2l

5 Vis-2s 8 Bl el il

wis-5 oL 2] 24 el 8l
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Ifz v Z2 and z,areany three distinct complex
numbers such that z,/=1, |2,|=2, |z5 =4,

argz,=argz, Tand arg z; = arg zq

(SRIE

then ZyZ4 is equal to :

Options:



i,

5 Biz)?

= Biz.j?-
81

4 7
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Ffe $18 94 9= afmg &3 2, 2, 991 2,
W UHR ¥ fF |z5) =1, [2)] =2, |z3|=4,

arg z, =argzy —wadl arg z; = argz; 1

ﬁIzzzaﬂTFﬂI%:

Options:
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od 2, z, 2l zy 2 2l slS e B s

arg zy =argz) —m i arg z3 = argz; 4

o | =

2y, dl ZyZa=_ 2

Options:




-
> Biz,

- 7
= Biz,
8i
2
4. 4
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If 2 is a root of ax® +bx +¢=0, B is a root
of axr?— 2bx — ¢ =0, and the real numbers a,
b, c (a=0), are such that < «; then a root vy
of ax®+4bx +2c=0 always satisfies :

Options:
o<y <2B

> P<y<a
y<p=<a

4 P<a<y
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afg ax2+bx+c=0 FT TF Jd 2a ¥,
ax2 — 2bx — c=0 1 UF qA § & a9 IRATAF
T=4 a, b, ¢, (a>0) SHYFR & B <o, A1
axZ +4bx + 2c= 0 T UF JoA v Hal T F4
#:
Options:

a<vy<2p

o P<y<a
y<p<a

4 P<a<y

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



sd axZ+bx+c=0 -L wsoley 20 4
ax2 —2bx —c=0+ =i ollsr 3 €14, @™l a, b, ¢
(a>0) =i =il diclels Hvail © % el p <o
A4, dl ax? +4bx +2c=0 - 215 ol v €1
A M.
Options:
a<vy<2f

2 B<y<a

5. ¥<p<a

4 P<a<y
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)
If B= [ 2 []_] and A is a malrix such
1

that A= B=B!and kA" 1=2B"1+1,
where k is some scalar and I is the 2 x 2
identity matrix, then the value of k is:

Options:
1, —2
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"ﬂﬁ(Bz[ ? ﬂ 9T AT A SHTFR

fFA IB=B laimkA 1=2B !4 W&k
FIE AR (scalar) & 91 I, 2 2 T GHHEH
(identity) #AT=g& Mk FAAE:

Options:
1. —2
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. 3 =P % . spsaEE... &
MB=[I ﬂ]mﬁﬁai&imqm{%ﬁ“&
Ul A 'B=B ! 2 kA 1=2B 1 41, s
k 518 2ol 2 T 24 2 2 AL 2l a8 dx,

-,

dl k Al Bud 89,

Options:
1, —2
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If for positive real numbers a, b and c, the
system ol linear equations

x=a(y+z),y=b(z+x), z=clx+y)
has non-trivial solutions, then

1 ; 1 | 1
1+a 1+b 1+
Options:

3
;2

% is equal to:

> 3
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Al UAE Frdias SEAA a, b 9 ¢ F

fau s gt %™ v=a(y +2),

y=b(z +x),z=c(xA y}aﬁﬁg@{nnn-ﬂ'wiah
1 1 1

1 | f =L B :
ﬁ%’mlm 1+b 1+4c g

Options:
3
i ‘&

o
@

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
9 Aicldd vl a, b 24 ¢ 42, o Y
wylszel deld x=a(y+z), y=b(z+x),
z=c(x+y) A4 Hioy Gsal (non-trivial
solutions) Q'EH, dl

1 | 1 | 1
1+a 1%b T4e¢ —
Opt_ions:

3
j
> 3
3 2
1
4 2
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Let (1+x)"=Cy+Cix+Cx* +.... + C a"
where C_="C_and (C;A CI}{CI_I ...
(C,_1+C)=ACL,...C . Thenforn=53,
A isequal to:

Options:

1 324/5

5 3125/24
3 128/3

4 625/24
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AT (1+2)*=Cy+ Cx + Cox* +.... + C 2",
W&l C =1C, 91 (Cy+C,)(C; +Cy).o..
(C,_,+C,)=ACC,..C, @ n=5 ¥ feu
AT E

Options:

, 324/5

5 3125/24
3 128/3

4 625/24
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QRL S (1420 =Cy+Cx +Cyx2 +.... + C x™
sl C . =1C, 24 (Cy+Cy)(Cy+Cy)-nen

(C,_1+C,)=ACG,...C,, 8L cll n=5 3k
A:

Options:
| 324/5
5 3125/24

5 128/3

4 625/24
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For 'B:J-{], if the coefficient of x> in the
binomial expansion of (1 +px)® and the
coefficient of x? in the binomial expansion
of (1 px)® are equal, then the value of
iz
Options:
. b
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B=0 & Taw, Ife (1 +px)° = fo7g THR H 13
= T a4l (1 - Bx)® & f5ue war | o4 &
T A B, 1 F A E

Options:
1. /7
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B0 M2 oA (14 px)0 AL [gugl [Cedremi «
Al 42|15 2 (1 - Br)® AL [guel [Eadremi
Al MR HHIA L B AL Bud

.

Options:
. b

2 —2/7



Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For distinct positive numbers a, band ¢, if
a2, b?, 2 are in A.P., then which one of the
following triplets is also in A.P.?

Options:
1 1 1

F r

1. b—¢c ¢—a a-b

1 1 1
3_‘|:1|4t: c+a a+b

1 1 1
4 b+2c" c+2a a+2b
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o g arafas 9Ensi o, b dM ¢ &
fera, afz a2, b2, &2 w9 991 | €, o fre o
T FH | (wiplet) *ff THFE J¢1 H &7

Options:
1 1 1

r r

1. b—¢c ¢—a a-b
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(Gt £t vyl a b il © W2 od aZ bZ 2
Hicz el (AP.) Al €, ol ARzl 54 =
e #HicR el (AP.) wl €Ml

Options:
1 1 1

r r

1. b—¢c ¢—a a-—b

1 1 1

¥

2_‘Dq::ah-::a

1 1 1
3_‘bl«: c+a a+b

1 1 1
4 b+2c" c+2a" a+2b
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Let S, be the sum of the first n - terms of

the series

12+2:52+324+ 272452+ 292 + ...

If sz 20 A, then A is equal to :

Notg_:dFor this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
canaidates.

Options:
1. 1851

<~ 1951

5 2001

4 2019
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HAT H0 12+ 2524+ 32 4+ 272+ 524292 .,
% WO n W& HAMS, TGS, = 20A,
A T E

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1. 1851



<~ 1951

5 2001

4 2019
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Rl s 3gl 1242524+ 324 272 452+ 2924 .,

AL MUY n MEHL WRAWLS, 8. edS,,= 20 A

€L, dl A=
Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:
1. 1851

= 1951

5 2001

4 2019
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Let m and k be positive integers (m'« k).

Then
) 7 t.I|_'r| v 2Ir|:'| # Lm
hmn-ht-—| -L}:-—| :1—| L"ff-}:
n—pa . . L . \ n. I
Options:
1. 0

Kk +1
2 2

.Hﬂnll 1)k
<3 2

4 km
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AFT m 997 k HAEE qOE € (mek)

[T R U I (R

Options:
1. 0

Kk +1)
o 2

1

.m{m F1)k
3. 2

4 km
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-

sl m 24 k 44 youlsi €4 (mak), dl

lim n {{ 1+Lxm J{ lvi]m S S -1—([ + Lxm — L.l

=t

Options:
1. 0

—k(k + I}m
o 2

.m{m F1)k

o 2

4 km
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| e i s ;
K ar —a X =
7 A = 1/ —1s y
FDI’ LJr{-l} ‘{ Y g AX
| o0 , x=0

Options:
L fo)=1



2. f(0)=0
z fis not continuous at 0

4 [is not differentiable at 0
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X -_r_— . xrE0 .. .
@)=k e ¥ & for
| 0 ., x=0

Options:

1 J0)=1

2 f(0)=0

, x=0 T [T T 2

, ¥=0 R f sk 7 2
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i 1 _.l._

oy A5 o + BT
| 0 . 3 |

2

Options:

1 fo)=1

., [(0)=0

F210 21 Hdd -2l

o [0 [Bsardl -l
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x
Let F(x) = [ f(t) dt, where

flx)=2 + sinx — cosx. If
F(x) —F(y)| = kx—y| for all x and y in R,
then a possible value of k is :

Options:

24 2
5 2—42

14
2, N2

 WZ=1
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A E(x) = [ f(t) dt, @l

0
flx) =2+ sinx — cosx. ?ﬂéﬂﬁ@‘ﬂxﬁmy
% U [F(x) - F(y) = klx—y, @ k & T
e 5 ®

Options:

34 o2
, 242

{4 >
2, V2

W21
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X
QEls F(x) = [f(H)dt sl
0
flx}) =2+ sinx — cosx ©. od R AL 445 x
2y W2 [F(x) ~ F(y)| = kv —y €, dl k-l
3154 [ =B
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A real valued function

flx) =Ch:-ge 1l +Dxd 4+ x, x20, where C and
D are constants, has critical points atx = — 1
and x=2. Then the ordered pair (C, D) is::

Options:

1 2
53

'[2 1
> \3" 9

_-_-_._H\'

WD | =

| k2
m!

—
L3 | k3
WO |
T e e
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Uk Ardiasd 51 Fed

fix)=C log x|+ Dx®+x, x 0, el C 991 D
IR, W x= -1 9 x=2 W Fifq®w fag
(critical points) &, 1 siad H (C, D) EE

Options:

1 2
53
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qlacilds Gy fix)=Clog.|x| 4 Dx?+x, x20,
Al [Aeids dvgsl x= —1 24 x=2 Sl C
A4 D AN Y. dl sHYSA S

G = e e
Options:

(<12
1 9-' '-5)'

(2 1)
53l

_-_-_._\\'
WD | =
| k3
Nt

e i
L3 | k3
WO =
T
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1f S(%) =j:f>ge{

313
of f( }15
0
Options:
1 e2—1

5 3 IDBES
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X
e

afe f(x) = _[Iﬂge[

e

X

Yt = 3F'0)
{-‘t/'| dt,m | o

log e

HHE
Options:
1. el —1
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s f(X)= J‘I{}gt,[ i } dt 4 3f'(3) q

IDSH t i e

Options:
3
1. e==1
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™

: 3
The valueof the integral -I.Sm[

—Jd}_ is :
| sin(¥3)

e}

Options:



iy
ra | =
§%]

i13

2
o)

= +2
3 2

';'1
4 2
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e i [ 3%
FA demrﬂﬁ%:

sin (%)

Options:

LI, |
1e 2

T

2
2.

L
3 2

';' 1
4 2
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_ i B Y
slad .I.Mdl Al Gud

5ﬂ1[IQ)
L /2
8.
Options:
-
1 &
i1
2



|

k3 |

|

-
b3 |

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The area (in sq. units) of the region bounded

by the curve Jx + ,u."]_; =1,x,y =0, and

S
1 1)
the tangent to it at the point | P | is :
w4 4
Options:
1

1. 36
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TF A +Jy =1, 1,y = 0 7 375F fag

I-'i i [ - - -
1 ﬂ T 9 T 5 TR 43 F g9%A
i3 T/
(a7 sl H) 2
Options:
1

1 36
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W Vx4 fy=1,xy =0 @ dd (&g

1 1 i - —
[I' ﬂ AP R 2MES 45 Y MEdd
A° )

slas (=L Sisnul) 8.

Options:
1
1 36
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The solution of the differential equation

i sin 24
gy | gney — y3cos?
dx X

(where C is a constant of integration)

Y, is:

Options:
[
5 x
x“tany = — +C
1, 6

4
2 x
x"tany=— +C

2. S

]
IECDSZH el gl
3. ‘ 6

B

: X
xzsmiy = — 4+ C
4. 8]
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n d sin 2
e THE =2 + —7 = x3cos?y
dx x |
T
(vEfF C U A A T)
Options:
6
xztanl; = Z g
1 ‘ b
4
2 tany = LW
z. ‘ 4
6
xzcoszy o
= ‘ 6
B
xgsmzu = L - C
4. . b
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dy  sin2 ,
Rsa wllwa L + T = Bcos?y Al
dx x
Gty 6.
(sl C =4 dstrdl 2Ruis 8. )
Options:
K]
x% tany = Lo
1. ) b
4
22 tany = LAWY
2. ' 4
6
X
J'ECDSEU =—+C
2 ) b
B
xzsi_niu = L FC
4 i
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Let P;, PP, be any two points on a circle of
radius r centred at the origin O, such that

ZPOPy ==, If P is the point of
intersection of the tangents to the circle at
P'I and Pzr then the locus of the point P, is :

Options:
1. 3% ) =4r

> A +y7)=3r"

s

2 =<y
4.,\.’}‘1;2 3r
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A P, 1 P,, U& I Toge! 541 r 991 %%
qafag 0 7, " frgg =1 fag & 9

ZPjOP, = % €| afs P 39 % fagali P, @

P,, R i € et Tt 1 wrwe fig &,
a1 P =1 faga9 (locus) # :

Options:

1 374y =4r°

> a2 +y?)=3r?

L PP =ar

2 -
i % Fy?=3r
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QLS Py 24 P, 2L r Bseion 24 Gorilelg
O Segaltl wdil Yzl wiell 516 o 5=l 8 %

i13

w¥l Z/P,OP, = 7 od P, @4 P, 20140

g ERe uRisld Sellg P e, ol (55 P Al
(Gigua 8.



Options:
1 3y =4r°

o> 4% +y?)=3r2

g N g B
5 X Fy==4r

2 s
i X Fy2=3r
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[f any tangent to the parabola x2=4y
intersects the hyperbola xy=2 at two
points P and Q, then the mid-point of line
segment PQ lies on a parabola with axis
along :

Options:

1 x-axis and focus on positive x-axis

5 x-axis and focus on negative x-axis

2 y-axis and focus on negative y-axis

4 V-axis and focus on positive y-axis
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Tt T 12 =4y 1 H1s O [ Afda=ed
xy=2 I < fagsli P aen Q W et €,
TEmETE PQ W HEAfEg U Weaerd W e ¥
Toraet 147 -

Options:
1-3181 F Ifew 2 a9 fam=wi A1ty
| AT x-3E W

38 F eEfew ® aun fagst iy
o HEE x-AF WE|

y-F T arfew € aw fowst iy
L N y-AE WL



y-314 F SAfew © a1 foeet Ay

, T y-AE W E
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Yaee 12 =4y -l 518 242ls, 2ildsad =2
of [Met (G52l P 2l Q i 82 &, dl wuiis
PQ - el o wread w2 @i o Ryl
U

Options:

L XA A AU A - R D

-8, i, AU SOl e Y3 8,

5 Y-AEL e AU by B

s i AUl y-E YR &.
.
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I[f m and n are the lengths of the
perpendicular from the origin to the
straight lines whose equations are
xcoth — y=2cosh and

i:t b3y = -5 cos 20, (6 € (0,7)),
respectively, then the value of m-+ 5n-is :

Options:
13
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Correct Marks: 4 WrongMarks: 1
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Options:

1.3

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
s m 24 n 21 253 Gor(eiguiall sl wailsa
xcoth — y=2cosb **t:{iﬁ. t 3y = J5 cos 20,
(e (0,m) € cell 2vumil yarl doil dendil

g, Al m2+5n2 Al By 8.
Options:

1.3

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If an ellipse has its foci at (2, 0) and ( — 2, 0)
and its length of the latus rectum is 6, then
the equation of the ellipse is :

Options:
o, 2
J‘__ | ]J"_=1
1 16 12
1.2 2
LS
24 o4



5 36 18
2 2
464 24

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ife Wk <9 I AT (2, 0) T (-2, 0) W
T A1 59 A FI T 6 2, A ST F

THE 2
Options:
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Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let C be the circle whose diameter is the
line segment formed by the line 3x +2y==6
intercepted by the coordinate axes. Then
C also passes through the point :

Options:
1 (1)

2 8.2)
= (2,3)

4 2,2)

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

1 (1,1)

, 3,2)
z Z,3)

4 2.2)

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The distance of the point (1, 2, 3) from the

plane x+ y +z =2 measured parallel to the
x+1 Ui z—3

Ii = == — is -
ne 1 2 1 15

Options:

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The value of o for which the shortest
distance between the lines represented by
y+z=0z+x=0andx+y=0, x+y+z=«
is1,is:

Options:
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Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



C be a vector such that
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Options:
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A and B try to hit a target. The probability

that A hits the target is f;{{] and the

probability that B hits the target is ff; 0" If

these two events are independent, the
probability that B hits the target, given that
the target is hit, is :

Options:
17

1 41

18
5> 41
19
3. 41

20
4 41



Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
17

1 41

18
5 41

19
3 41

20
4 41

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let xy, x5,...., X5 be 20 observations and
d. —2( x.—5),i=12,..., 20. If the mean and
Varran{:e of dy, d,.....d,; are 20 and 12
respectively, then the mean and variance
of Xy, Xnyewnny Xpp @re IDSP{}CUVEI}’,

Options:
1 10and 4

> 15and3
5 10and3

i 15and 4

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
; : .

4 .
If cos(a + B) = Eand sin(a — B) = 13

TI'."
where HFBE{U, ZJ' then the value of
tan 2o is :
Options:
56

33

54

33

55

33

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two parallel chords are drawn on the same
side of the centre of a circle of radius 20. It
is found that they subtend 60° and 120°
angles at the centre of the circle. Then the
perpendicular distance between the chords
is :

Options:

; 10(v2 — 1)



Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The compound statement

.{ﬂ- CAAABYV(~CAa~AAaBv(CaAb)
is equivalent to :

Options:

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Aptitude Test

Section Id : 416529194
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 8
Number of Questionsto be attempted: 8
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 416529256
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 35)

Question Label : Comprehension

Directions : The problem figure shows the top view of an object. Identify the correct elevation from
amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

Options:



L

4,

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Juestion Label - Comprehension
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Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:

.

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Sub-Section Number: 2
Sub-Section 1d: 416529257
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Cesticn Label | Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.
Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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—
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—
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

"

Options:

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Juestion Label - Comprehension
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Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Juestion Label - Comprehension
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Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P

Sub-Section Number : 3
Sub-Section I1d: 416529258
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (41to 45)

Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P
-~ -
e -
i gy
Pl
.
-~ -
[ e
il Wi (P SR
L=, - -
e B =
e

—

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (41to 45)
Juestion Label - Comprehension
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Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (41to 45)
Juestion Label - Comprehension

Yl 1 3- D U5l =is wgizid ge ddid . dladl B sddi wod 2 2y §eL ereiol 2agldaiuiz 4l
53
Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number : 4
Sub-Section 1d: 416529259
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct top view from amongst
the answer figures.

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

5,

Options:




Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:




Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (46 to 50)

Juestion Label - Comprehension

89T : 3- D W9 Ahfd H U o & U g¥F & @ @1 €1 SHE e U gYF, S Afadi ° 9
eI |

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Cuesticon Label | Comprehension

YAl 1 3- D 2ugld 215 ugeld g2 v 8. st 2uglamiiuial Wi GrEl g A%l s

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 5
Sub-Section 1d: 416529260
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cuesticon Label | Comprehension

Directions : Which one of the answer figure is the correct mirror image of the problem figure with
respect to X- X7

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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No Option Orientation : Vertical

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 WrongMarks: 1
(X)
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

R R

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)

Cuesticon Label | Comprehension
fdoT : S AT | 9 S ATHa & T T AHA X - X H G 98 g9 gfatas g2
Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

B 28
|I I_._-"l < Xy l::I
L= {
J ot
I ™
(X)
Options:
Il“"-__ I;'I. |
|I_. .-l'. |
1 ol
= -~ “'x.l"
1, W
b ] .-"'-F-I
(i A% |
1y i |
1 ""‘_\::\-""r
s |
2.
=3
k =
wid
=1 |
i -'. |
4 L \:L

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)



Options:

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o x)
T2

(X)

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51to55)
Juestion Label @ Comprehension

Yl : W 2l X - XA ks 2l ulalte sycpor wagldeaamial s aa)

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:



Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)

Options:

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 6
Sub-Section 1d: 416529261
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label | Comprehension
Directions : Find the odd figure out of the answer figures given
below :

Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct

options are chosen.



Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

Question Number : 60 Question Type
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:

4,
Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (56 to 60)

Juestion Label | Comprehension
HE9T : =19 <1 T SR AhTaal | 9 faun snefa gemnta |

Sub questions
Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:




Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label - Comprehension

Yl : Al 2uid oveied suglamiviel (B (odd) =ugld 2l
Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



Sub-Section Number: 7
Sub-Section Id: 416529262
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61to 65)
Juestion Label @ Comprehension

Directions : One of the following answer figure is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

Options:

1.

i
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



4. 4
Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
]

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)
Juestion Label - Comprehension

9T : 9 <1 TH SR SATHaFl § | U SATFG A9 AR few # wHE w9 9 9y Apfa J g T e |l

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
]

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)



Cuesticon Label | Comprehension
ML : ovellod wigldaiuiql 2is sugld Bler und 2 [Fa Al wi 2ugldul gumid 9. sl svsel WAL

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
]

Options:

Y



Sub-Section Number: 8
Sub-Section Id: 416529263
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is a primary
color ?

Options:

1 Purple

> Orange

= Red

4 Green

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[n the Northern Hemisphere the winter sun
rises from which direction amongst the
following ?

Options:

1 Morth East

5 MNorth West



= South East

4 South West

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A byte is which one of the following ?

Options:
1 A group of stars

5 A unit of digital memory
5 An act of an acrobat

4 A unit of sound

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

What does the abbreviation [SEC stand for
amongst the following ?

Options:
1 Indian Studies and Result Office

5 International Sea and Rain Office

= Indian Space Research Organization

International Settlements and Relief
4 Organization

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
What does the abbreviation NASA stand
for amongst the following ?
Options:
National Architecture and Science
1 Association

National Archeology Studies
> Academy



National Aeronautics and Space
z  Administration

4 National Artand Science Association

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following is a horizontal
element that supports the loads above
openings in walls in a building ?

Options:

L Lintel

> Column
= Foundation

4 Pillar

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which color amongst the following
represents danger ?

Options:
1 Black

5 Green

z Red

4 White

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which Indian city is abutting the Arabian
Sea ?
Options:

1 Kolkala

= Mumbai

2 Chennai



4 Sural

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In which of the following Indian city are
the “Shaking Minarets’ located ?

Options:
1 Hyvderabad

> Lucknow
=z  Ahmedabad

4 Delhi

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In which of the following Indian city is the
‘Bara Immambara’ located ?

Options:
1 Hyderabad

> Lucknow

= Ahmedabad

4 Delhi

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Cavity walls are which one of the
following ?

Options:

1 Walls with holes

5 Walls with air gap
= Walls with windows

a5 Walls with doors



Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Green buildings are associated with which
of the following :

Options:
; Landscape

> Beauty

5 Environmental suitability

. Location

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frame structure in high rise building
pertains to which one of the following ?
Options:
1 Structure with squares on the facade

5 Columns and Beams structure

= Load bearing wall structure

4 4 square building

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Chajjas above windows are meant to
protect the building from which of the
following ?

Options:

1 Wind

o Birds
z Sun

3 Typhoon

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Which one of the following is not a planned
city 7

Options:

1 Gandhi nagar

5 Chandigarh

2 Bhubaneshwar

4 Kanpur

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Juestion Label - Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

1

, T A I STt

4 YA HE U AR THETE

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Frfafad 8 | 0 @ 1 Tar F gfafre
FAA 27

Options:
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cesticn Label | Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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= Indian Space Research Organization
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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National Archeology Studies
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Section Id : 416529195
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529264

Question Shuffling Allowed : No



Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

(a) In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using
only curved lines. The shapes created
by these curved lines can be of any
size, and may be placed separate,
overlapping or within each other.
The idea is to produce an aesthetic
and visually exciting composition of
these shapes in the frame without
making it represent any realistic form
like house face etc. The composition
should be filled with some colors of
yvour choice so that the visual quality

of the composition is enhanced.
20 Marks

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
(b) Draw the graphic image shown

below to double its size in the space

provided for the answer of this

question. Each component line

should be drawn double its length

and correctly positioned direction

wise as shown in the question figure.

20 Marks

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Sub-Section Number: 2
Sub-Section 1d: 416529265
Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30



(c)  Design an appropriate pattern for a
curtain for a small girl’s room. Draw
and color it 30 Marks

OR

Draw a picture of your favorite film

star’s face as realistic as possible.
OR

Draw from imagination a picture of

some people sitting around a
bonfire.

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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